H £ 0l & AFHSH & Ml A

MAPS
M MHPE A EH]
D MEETME JA2Y ¥ HIAL X2 (EH9l: &)
SA - B . B(30) - HSAIY - BAS Ol &k e HimE==T
s 393,701 350,956 42,745
MAPE At Y| 332,541 292,736 39,805
HHE=SNHEH W2 & AL RIE 206,541 194,286 12,255
XX 24 100,645 79,856 20,789
201 LBr2A| 18,500 15,536 2,964
01 At22t2lt| 18,000 15,036 2,964
OFIXXIHEH 22| 3,000,000& 3,000
O=8AXRAA |3
50,0002 x5+ 128 15,000
02 S3=24bl 500 500 0
OA&EHIR XLl 500,000 500
301 LBetEXZ 69,000 64,320 4,680
11 HARHIXIES 3,000 3,000 0
OFUMXAAE HAs & XX
ZAst 100,000 *25 2,500
OFUMXEE N 29 500,000& 500
14 J|Et2 &3 66,000 61,320 4,680
OFQUXXAH T2 2Aeg
66,000,000& 66,000
401 Al BIZL20HY| 2,145 0 2,145
01 Al&HI 2,145 0 2,145
OCI 2tEt Xl 2,145,000& 2,145
405 XHoHE SHI 11,000 0 11,000
01 AL = SF S| 11,000 0 11,000
032 2st= ALIA 4,400,000& »2CH 8,800
O3Z 25t U¥y=
2,200,000 1CH 2,200
FOHEHAIL X 60,29% 49,430 10,866
201 Let2AL| 53,186 42,930 10,256
01 AtR2teld| 40,686 26,930 13,756
OFAIRIABIAAE g8HF
290,000& =123 3,480
OLYAIL OHHEZ e =3
140,0002 * 123 1,680
OF=J| & "t Xtz
380,000& 123 4,560
O3JI18&I| dxtz
55,0002 *3CH*12& 1,980
OFA &5 892 50,000& 128 600
OFA 2AMOE 22/d| 30,0003+ 12& 360
OEIIHMEA HedxZ
135,000 * 123 1,620
OsZ)| etdEd =
185,000 123 2,220
Os2I| IIB M7 130,000& 130




2N HH2S
HE: MODS AR
oelr A=A WaEg & HoAlg X3 (CHe &)
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
O=g)| & ZelZeHI| gxta
283,000 * 12 3,45
Oudel 88 =AD| gxtg
50,0008 * 128 600
OFAL W22 E4 89 10,000,000 10,000
OFAL 0loA AIEZE 3,000,000& 3,000
OZXZAIE FX2cl] 4,000,000& 4,000
O&slx 22+H= 500,000 500
Ozdd & AdEE S 78
2,500,000 2,500
2 35228l 12,500 16,000 A3,500
OoxgzEgz & || 7,000,000& 7,000
OF A=Al 5,500,000& 5,500
203 PR =2 2,500 2,500
03 A= NH =AY 2,500 2,500
OMOS SHASAIBET
2,500,000 2,500
405 KHoHE S| 4,610 4,000 610
01 M =ESF =8I 4,610 4,000 610
O A EMAHII 860,000 *1H 860
Oslos &t 1,000,000 *1H 1,000
O22AE At 200,000 <6 K 1,200
O=g¥ 550,000& *1K 550
OItElE 250,000 +4 K 1,000
FE {0l & 40,000 65,000 A25,000
401 AIEHIXL S0 40,000 65,000 A25,000
01 AlBI 40,000 65,000 225,000
ORUUARY FOIHEH T4
40,000,000 40,000
S At2lHHl SEdat 5,600 0 5,600
301 Et2 N s 5,600 0 5,600
11 #AIMHIXIE = 5,600 0 5,600
OAZIEtHl & |3&
140,0002 40 5,600
ScleyEs=2y 125,650 98,100 27,550
sclotyas2axd 125,650 98,100 27,550
301 Et2 NS 125,650 98,100 27,550
o7 && - 018 - HEEs2d=s 125,650 98,100 27,550
osd=+¢g 400,000 =20+ 122 96,000
osEHM=2 400,000& *20& »23] 16,000
OSH3o @A+
20,0002 x20H*23| 12 9,600
ogra& S| 50,0002 +81&*13] 4,050
XEE =X g2 FA 350 350 0
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